[ Efficiency vs vertpos |

= 0.05¢ : T
Q.05+
g E :

20.04F - ++eererinereee b

o r . : :

03B+ oo AR

L E : . :

B 0,03 e T R
s e
0.02F -+ ; + ......
0.015F |-+ el {
0.00F (- H-fH 4t T .

AN : : 4

0.005F 24+~ F1-F[ T4 4--f oo A

F H -y .
oF bbb bl

9 J..l.U_ : :

T r A

o r H

1_—0::1» L2 d E .

0.95 : :
107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_original_1000evt

Efficienq —— DQM_fitted4_1000evt

:
H

i
H

0935 =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.01 : .
09.009F B L s
5.008f S — S
9.007H B .
B.008- LR —
2.005f S N F R R S
() =3 : :
0.004f N - S
0.003f- i S
0.002} S H - S
0.00TF -+ ecbeenredienins SRR I S
P - P I T |
o W] * +
I H : 8
o I :
1:" -+ .- 9 W 5 W 0 W6 W0 5 W 6 U0 5 S

o
| ©
C

0 5 10 15 20
Sim. PV z (cm)

S
&b



	Contents
	Page 1


